A £ 0l & AF & S

Al A

FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IE=XL 65,716,479 61,534,020 4,182,459
= 31,683,899
Jl 4,485,200
= 7,944,299
Al 21,633,081
d=et IIE2a & 15,085,959 14,595,602 460,357
= 4,454,371
) 4,485,200
= 1,839,783
Al 4,306,605
S8 IOtE € dz 15,065,959 14,595,602 460,357
= 4,454,371
Jl 4,455,200
= 1,839,783
Al 4,306,605
QHMGLL) =s JIE2AAE Y 4,560 8,910 A4,350
202 04| 1,560 2,820 1,260
01 2K 1,560 2,820 21,260
OJIE=R L AIIYAIY DS, MOIL &
A 60,0003 x32 x2 2 «32] 1,080
OA=0el AIF AR 0|
60,0002 3% 180
Ol d0I2% XJAE R 0]
60,0002 3% 180
OstR RIS 24 0y
60,0002 x2& 120
203 HR=H] 3,000 4,000 21,000
03 Al ERIAREAY| 3,000 4,000 A1,000
O=E=X PeE
750,000 *4=2 | 3,000
SSS0LIsH 29 58,244 56,712 1,532
Jl 29,122
= 8,737
Al 20,385
307 elztol & 58,244 56,712 1,532
Jl 29,122
< 8,737
Al 20,385
11 AMEISXAEEE 58,244 56,712 1,532
OZ3ss0LisH 22
58,244,000 100 2 58,244
Jl 29,122
[ 8,737
Al 20,385




FA OEES A
B W= JIE23 A
Chel: =Et ObE U GlALIE (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JIBdH 29 1,132,580 1,115,030 17,550
Jl 566,290
== 169,887
Al 396,403
307 212+01& 1,132,580 1,115,030 17,550
7l 566,290
=S 169,887
Al 396,403
11 AMISXAIEEX 1,132,580 1,115,030 17,550
OJIEdH 29
1,132,580,000& * 11 2 1,132,580
7l 566,290
= 169,887
Al 396,403
JISHE SAH SE+E 20,520 20,520 0
[ 6,156
Al 14,364
307 glztol & 20,520 20,520 0
= 6,15
Al 14,364
11 MEISXAEEE 20,520 20,520 0
OJI=HE SAH S84
90,0002 x19Z* 1204 & 20,520
= 6,156
Al 14,364
CHEstE ot g3 X 115,716 178,494 N62,778
101 eI24d| 36,036 40,038 A4,002
M ORNZZ2NSE S 36,036 40,038 24,002
OZ=0{0130I0] SS&dE 23 36,036
=2 30,0003 x4 +30A1 2103 32,400
—=glo= 32,400,0002 *4. 5% 1,458
—22EE 32,400,000 *3.545% 1,149
—1E2E 32,400,000 *1.75% 567
— &2 E 32,400,000 *0. 966% 313
—ILEE 1,148,5802 %12.95% 149
201 eer23y| 10,580 17,488 26,908
01 AtR2t2|HI 10,580 17,488 6,908
OUEahHe SSsddY Wiiu-h|
50,0002 x4 =03 1,800
OJE=A g2 =8 S200AMH|
9,000& x4 *152«12& 6,480
O2i=el & UEHENEE s 2823
=g 100,000& »7 & »23] 1,400




A IE=SAH
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
OUERIHEXE 2=20Hs5s 218 ot
0 2 22 2
10,0003 x10Z 93] 900
301 LetEEZ 6,000 7,368 21,368
02 AIBIEZAGIZ(HAAS, RLTHR) 6,000 6,000 0
OA=2F2 HEOE T2 29
300, 0002 20 6,000
307 2Iz2+0l™ 63,100 113,600 50,500
02 QIR AAIHE X 7,500 8,000 AB00
OU23t=E Lietg0l0] 23
2,500,000 *37H 2= 7,500
04 CIZISHAIAIIE X 5,600 5,600 0
OdZItd, U=3t &tots =M K&
5,600,000 *12] 5,600
1 ARI=SXAIEE X 50,000 100,000 50,000
OIJIE=0IH XIZ A
5,000,000& 63 30,000
O=&d JI=stn 2%
20,000,000 & 100 &~ 20,000
CI23tE SHSAIE (S2RS MEIA) 302,266 453,976 A151,710
| 151,133
= 45,340
Al 105,793
307 QI2H0l A 302,266 453,976 A151,710
| 151,133
= 45,340
Al 105,793
1 ASI=SXAIEEE 302,266 453,976 A151,710
OUZshts L2 USAEIA
75,566,500 42 | 302,266
| 151,133
= 45,340
Al 105,793
CH23tE SHFAME(SHS MHIA) 34,100 0 34,100
| 17,050
= 5,115
Al 11,935
307 2Iz2+0l™ 34,100 0 34,100
| 17,050
& 5,115
Al 11,935
1 ARRI=SXAIEE X 34,100 0 34,100
OZ=0I18X SHAMHIA
8,525,000 4= | 34,100
| 17,050




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 5,115
Al 11,935
C23E SE3AR(IHE AL LX) 81,180 0 81,180
Il 40,590
< 12,177
Al 28,413
307 lztol & 81,180 0 81,180
Il 40,590
== 12,177
Al 28,413
11 AMRISXAEEES 81,180 0 81,180
Ot=22E Tt AZEEX
20,295,000& 4= 7| 81,180
Il 40,590
== 12,177
Al 28,413
CH23tts SESAIE (0152101 IAIH) 36,430 0 36,430
Jl 18,215
s 5,465
Al 12,750
307 @I2t01 & 36,430 0 36,430
7l 18,215
= 5,465
Al 12,750
11 AMISXAIEEX 36,430 0 36,430
O0lIsa0 s
9,107,500& *4=2 7| 36,430
Jl 18,215
= 5,465
Al 12,750
O23HE SESIAIRI(ZE0/81 X 223 Xd) 24,500 20,000 4,500
Il 12,250
= 3,675
Al 8,575
307 gl2to| & 24,500 20,000 4,500
Jl 12,250
= 3,675
Al 8,575
1 AMEISXAEEXS 24,500 20,000 4,500
OZE0I2At AL
6,125,000 x4= 7| 24,500
) 12,250
= 3,675
Al 8,575




FA OEES A
M H=3 )|E2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2012 =HHSHIE NS 6,300 5,550 750
= 1,890
Al 4,410
301 EtE N = 6,300 5,550 750
= 1,890
Al 4,410
02 MEIZZHAHB(FHENE, WL 6,300 5,550 750
OZEOIRIN 2HHSHIE X2
300,000 *21H 6,300
== 1,890
Al 4,410
Ch=23t H0tety 249 20,000 20,000 0
= 6,000
Al 14,000
307 elztol & 20,000 20,000 0
= 6,000
Al 14,000
1 AMISXAIEEXS 20,000 20,000 0
OCtt23t otstn 2
20,000,000 *1IH 2 20,000
== 6,000
Al 14,000
FHAANE Hd23HM 23 39,724 48,417 28,693
201 er23 | 524 605 A8
01 At2t2ltl 324 405 A81
OO0PI= ZH0HAE E2 =R MH
1,000 *3240H 324
02 S3=gHl 200 200 0
OgFE HEH 6 AMERS
16,6008 * 122 200
301 2= 33,200 41,812 A8,612
02 ARSI 2E A S(FAANS, XLETHE) 32,000 40,000 28,000
OBIRRIIE MYBAY
22,0002 *500H 11,000
OR IS dga XtedF=J]
100,000 *60H 6,000
OstR2its dseizdl(12d)
30,0003 +500& 15,000
11 AALEEIXIE S 1,200 1,572 VANCY
OLloioid eIAES & olgmel FAXt
24 12,0002 *35 & *22 840
Oolg=Xl 2 us & MOILE B84 24
60,0002 x3&+2& 360
307 @I2t01 & 6,000 6,000
02 QB AANEER 6,000 6,000




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHstol ALY S GAARIA T2 29
6,000,000 * 174 2~ 6,000
SHRIIIEXA 713,130 637,887 75,243
S 213,939
Al 499,191
301 Eet2 NS 713,130 637,887 75,243
== 213,939
Al 499,191
02 ARSI 2E AT S(FIANS, XLETHE) 713,130 637,887 75,243
OstR2ItE X2 (=Hl XIFAY) 713,130
—dEX =S 58,970,000& ~12& 707,640
= 212,292
Al 495,348
—UeEE MY Sthis
2,990,000& %12 2,990
== 897
Al 2,093
—J0Hs 4223 2
500,000 +6H 2,500
= 750
Al 1,780
Ots2=Hl S KA(SR2IHE) 3,588,659 3,588,604 55
Il 2,870,927
= 368,866
Al 368,866
301 EtE N = 3,588,659 3,588,604 %6
) 2,870,927
< 368,866
Al 368,866
01 AR 2EHSHS(RDNEERTHE) 3,588,659 3,588,604 55
OstR2IIE Ols2=sHl S A&
299,054,900« 123 3,588,659
Jl 2,870,927
< 368,866
Al 368,866
Ots=sHl N (HAEER2 NXR) 10,000 13,000 23,000
Jl 8,000
[ 1,000
Al 1,000
301 LEIE NS 10,000 13,000 23,000
Il 8,000
== 1,000
Al 1,000
01 Al 2E AL S(SREXME) 10,000 13,000 23,000




2A: JIE=EX
B W= JIE23 A
Chel: =Et ObE U GlALIE (ol m2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OHAEBED OISURE = A
833,330& *12& 10,000
| 8,000
= 1,000
Al 1,000
SIREEINESIIALE 23| XA 296,400 296,400 0
& 45,838
Al 250,562
301 LPENZ 12,520 12,520 0
& 3,256
Al 9,264
2 AN 2EAHS(HUAHS, NLTHA) 10,000 10,000 0
OSIRENEASX| AL AL N
= K& 5,000,000 *2A| CH 10,000
= 2,500
Al 7,500
14 J|EI2 A3 2,520 2,520 0
OetR2INE=XNAE SAK EE+ 2,520
—AN&E 90,0003 x1H 123 1,080
T 324
Al 756
—AEHR 120,000 1E+ 122 1,440
= 432
Al 1,008
307 212+01 A 283,880 283,880 0
& 42,582
Al 241,298
10 Al S XA EBEER2IHIE X 283,880 283,880 0
Ot dFXJAE 2Zd| XA
283,880,000& *1JH 2~ 283,880
T 42,582
Al 241,298
SIRERIIEEXAE 0|2 RIH 21,480 21,480 0
= 6,444
Al 15,036
307 212+01 A 21,480 21,480 0
& 6,444
Al 15,036
10 Al =S XA EEHE2IHIE X 21,480 21,480 0
OstR2ItE dEXJALE 0|8 XI&
21,480,000 *1JH 2 21,480
T 6,444
Al 15,036
SIREEIIESRALE LAk & oz XA 6,400 7,000 A600




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 3,200
=S 2,240
Al 960
307 @I2to| & 6,400 7,000 2600
Jl 3,200
= 2,240
Al 960
1 AMISXAIEEXS 6,400 7,000 A600
OANEUATT HEXIR N (BRRINEZT
INE=Y 6,400,000 100 2 6,400
Il 3,200
= 2,240
Al 960
HEEHAE: 29 N2 146,711 146,711 0
Il 73,356
= 22,005
Al 51,350
307 el2to| & 146,711 146,711 0
Jl 73,356
= 22,005
Al 51,350
10 Al SXAEEHE2EHI2x 146,711 146,711 0
ONEZANEL 2% Xd
146,711,000 * 10 2 146,711
) 73,356
< 22,006
Al 51,350
JHE =S ol HEX X2 A 3,050 4,450 21,400
= 950
Al 2,100
307 gl2tol & 3,050 4,450 21,400
=S 950
Al 2,100
10 Al SXAEEE 22X 3,050 4,450 21,400
OJIE =4 ol HEHX XA
3,050,000 * 104 2 3,050
== 950
Al 2,100
IHEES TohA ESAIE 2SX2 (BI=3X 4HH]) 14,445 0 14,445
Il 14,445
301 22N = 14,445 0 14,445
7l 14,445
01 Al EE A S (2 RDEEA) 14,445 0 14,445




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONEZNN ZEAE B2 A A
1,203,750« 123 14,445
Jl 14,445
B EY oA ESAIE 2SN (EAT HEXES 22,500 0 22,500
)
Jl 22,500
301 22N = 22,500 0 22,500
7l 22,500
01 Al EE A S (2 RDEXMR) 22,500 0 22,500
ONEES SN 2BAE S4K HEX
23 22,500,000 * 10 £ 22,500
Il 22,500
IIEES Oloikt BSAE 2 X3 (2g0) 237,629 276,404 N38,775
) 166,340
& 21,387
Al 49,902
307 lztol & 237,629 239,459 21,830
Jl 166,340
< 21,387
Al 49,902
10 Al2IS XA EEE 22X 237,629 239,459 21,830
OJEZHIIGHA BESAIE 29 K&
237,629,000 100 A 237,629
Jl 166,340
== 21,387
Al 49,902
JHEES Lo ESAIE 2EXA (XL EEHI) 2,061 0 2,061
Il 1,443
== 185
Al 433
307 212+01& 2,061 0 2,061
J| 1,443
= 185
Al 433
10 AlRISXAZEE 22X 2,061 0 2,061
OJHE =3 Lokt Mg =&l
2,061,000~ 104 2 2,061
Jl 1,443
= 185
Al 433
JHEEZLICHAL EsAld JIs22 & 37,252 29,180 8,072
7l 18,626
= 5,588
Al 13,038




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 37,252 29,180 8,072
Jl 18,626
== 5,588
Al 13,038
02 2IIXHZ AN 2 X (01 TR 37,252 29,180 8,072
0= F5AE IISEY X
37,251,670 * 10 2 37,252
Il 18,626
== 5,588
Al 13,038
JHEZE Lokt XIs2s =208 X 38,710 17,653 21,057
Il 27,096
== 3,484
Al 8,130
307 212+01& 38,710 17,653 21,057
Jl 27,096
= 3,484
Al 8,130
1 AMISXAIEEX 38,710 17,653 21,057
OJHEEZ8IdA Xgels 228 X
9,677,500 *4=2 7 38,710
7l 27,096
= 3,484
Al 8,130
JHE =S okt 2 =4l K& 12,451 12,451 0
Jl 8,715
= 1,121
Al 2,615
307 gl2to| & 12,451 12,451 0
Il 8,715
= 1,121
Al 2,615
11 AMEISXAIEEXS 12,451 12,451 0
OE=S WEHR 2RI X
12,451,000 * 100 2 12,451
Jl 8,715
= 1,121
Al 2,615
=8 o484 2E N 143,892 142,022 1,870
) 71,946
= 21,584
Al 50,362
307 elzto| & 143,892 142,022 1,870
Jl 71,946




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 21,584
Al 50,362
10 Al SXAEEHE2EHI2x 143,892 142,022 1,870
O8=2 gL 2% X
143,892,000 * 100 2 143,892
Il 71,946
< 21,584
Al 50,362
SZATIHA XTsl= T2 4,286 4,286 0
Jl 3,000
< 386
Al 900
307 glztol & 4,286 4,286 0
Il 3,000
== 386
Al 900
11 AMRISXAEEES 4,286 4,286 0
ONZATN X232 T2 2
4,286,000 * 10 4 4,286
Il 3,000
s 386
Al 900
SZAT0Ioh A 2 =HI, 2tEHl XA 8,571 8,571 0
Jl 6,000
=S 77
Al 1,800
307 21201 & 8,571 8,571 0
Jl 6,000
= 77
Al 1,800
1 AMISXAIEEXS 8,571 8,571 0
Od&=3 Uikt 2 =HI, 2tEH| K&
8,571,000 * 104 2 8,571
Il 6,000
= 77
Al 1,800
SOHOHLIGH A e 2 K& 190,880 190,280 600
Il 95,440
= 47,720
Al 47,720
307 el2to| & 190,880 190,280 600
) 95,440
= 47,720
Al 47,720




FA OEES A
Hu: W= JIE2s A
Chel: =Et ObE U GlALIE (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 AlRISXIAIEEE 22X 190,880 190,280 600
Od OOl &4 28 K&
190,880,000 » 100 2 190,880
Jl 95,440
< 47,720
Al 47,720
SOHOHLIGH A XI2AlE 28X 244,241 243,640 601
Jl 170,969
[ 36,636
Al 36,636
307 lztol & 244,241 243,640 601
Il 170,969
== 36,636
Al 36,636
10 AlRISTIAEEE 22X 244,241 243,640 601
OSUHONIISHR NIRAIL 2% X
244,241,000 104 2= 244,241
Jl 170,969
s 36,636
Al 36,636
SOHOHIION Kt X R ALY 69,459 46,918 22,541
Jl 48,621
=S 10,419
Al 10,419
307 21201 & 69,459 46,918 22,541
Jl 48,621
= 10,419
Al 10,419
11 MEISXASE 69,459 46,918 22,541
O&OHOHIION A R2EXIE AFE
17,364, 7503 42| 69,459
Jl 48,621
= 10,419
Al 10,419
SOHOHIIOH A+ X012 JIsEd 19,852 19,852 0
Il 9,926
= 4,963
Al 4,963
402 2IZtA=01d 19,852 19,852 0
) 9,926
= 4,963
Al 4,963
02 QI X2 AL EE(0IETHE) 19,852 19,852 0
OXOHOHIIGH A+ RI&D12 JIs22 19,852




SA: IE=EX
M W IIE23 A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—=HELARXIJME J1s2Y
11,140,00024* 10 11,140
p] 5,570
= 2,785
Al 2,785
—dlor JIsEY
8,712,000 * 170 2 8,712
Il 4,356
= 2,178
Al 2,178
HEZAUTAlIE SAR SE2¢ 34,380 31,320 3,060
== 10,314
Al 24,066
301 YEHPHI 34,380 31,320 3,060
= 10,314
Al 24,066
14 JIEr2 A2 34,380 31,320 3,060
OWEZ2AIL SAL SE4
2,865,000 * 122 34,380
= 10,314
Al 24,066
HAESTAE NA(E FIIHKY) 180,854 175,664 5,190
= 3,132
Al 145,722
307 QI2+0I & 180,854 175,664 5,190
= 36,132
Al 145,722
10 A1 S XA EHE2HH 2X 180,854 175,664 5,190
O0E=XAY 29 & It K&
36, 170,800 2 *50H 2 180,854
= 35,132
Al 145,722
OEZALIALE Xgsls Z20H(E FIHAY) 19,300 0 19,300
= 5,790
Al 13,510
307 QI2+0I & 19,300 0 19,300
== 5,790
Al 13,510
11 A= XA X 19,300 0 19,300
O0MZALIIAIL XBE2 T2 &
FIIX 4,825,000 %! *47H 4 19,300
= 5,790
Al 13,510
OIS 014 OHE I HAN 2 1,231 1,539 308




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 1,231 1,539 A308
01 At2teltl 1,231 1,539 308
OOtSHEAHEXSFAN S22 M=
1,000& 310K 31
OO0tSHEHENGAU=S A2 =&
100,000 * 12 1,200
Mgl AYus S8dse & FHYAH XA 70,000 70,000 0
< 21,000
Al 49,000
307 glztol & 70,000 70,000 0
= 21,000
Al 49,000
04 CIZHHAMAIRH 2 & 70,000 70,000 0
Oddg e 2Xitel ¢l XH
70,000,000& *12] 70,000
S 21,000
Al 49,000
Hgxgesd 9,600 9,600 0
[ 2,880
Al 6,720
307 elztol & 9,600 9,600 0
= 2,880
Al 6.720
1 AMEISXAEEXS 9,600 9,600 0
ooy Hg, ¥gud 29
3,200,000 x32 £t 9,600
S 2,880
Al 6,720
2ddys dd 46,268 48,229 1,961
201 2= 31,628 31,240 388
01 At22t2lt] 31,628 31,240 388
OotaleltE 25t X2 XIS (2004 )
600, 0003 *x2)4 A+ 128 14,400
Ograeibi22g 2eldl XIS (59HA)
210,000 *504 2+ 123 12,600
OXE U 438 tigdus JA=g
1,128,0002 %12 1,128
OdEgaEl & 4dolXl A NS HAs
g 500,000& *32 1,500
OgggatElI?Ids 29
100,000& %10 1,000
OddEsAR 284
100,000 %10 1,000
202 04| 1,440 3,240 21,800
01 =LHO LI 1,440 3,240 A1,800




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
OgddEs AHE=0 IE J8X g&
60,0003 x4 & »4 960
OWdSIEAI =S BIXI0H
60,0003 x4 & +2 480
301 22N = 1,200 1,749 Ab49
14 JIEt2 8= 1,200 1,749 Ab49
OotE 2UEE BEY)
12,000& %1002 1,200
307 212t01d 12,000 12,000
02 QI HAANGEE X 12,000 12,000
OYMBEF2H I ESA}
12,000,000& x13] 12,000
MHE XE2E(AZ) 666,116 663,037 3,079
= 452,238
= 42,776
Al 171,102
307 el2to| & 666,116 663,037 3,079
= 452,238
= 42,776
Al 171,102
11 AR S XA E X 666,116 663,037 3,079
OMgoged 4,600,000 +51 234,600
= 187,680
[ 9,384
Al 37,536
OMHH =g X3
333,916,000 * 100 £ 333,916
= 166,958
< 33,392
Al 133,566
OXgussd 24,400,000 42} %t 97,600
= 97,600
MEHE SAHG M<IHAHI 36,720 49,208 N12,488
= 11,016
Al 25,704
307 elztol & 36,720 49,208 A12,488
= 11,016
Al 25,704
11 ARRIS XA E X 36,720 49,208 N12,488
OMHIE SAX H<LIHAH]
4,080,000 »9H 36,720
== 11,016
Al 25,704
MEHE SAHL 234l X3 A 22,680 25,430 A2,750




2A:

JE=X1%
Hu: W= JIE2s A
Chel: =Et ObE U GlALIE (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 6,804
Al 15,876
307 lztol & 22,680 25,430 A2,750
= 6,804
Al 15,876
11 AMEISXAIEEXS 22,680 25,430 N2,750
OMZHIE SAAH XI&
2,520,0002 9 22,680
=S 6,804
Al 15,876
odol=Efady 29 XA 310,000 338,000 /28,000
< 93,000
Al 217,000
307 elztol & 310,000 338,000 /28,000
= 93,000
Al 217,000
1 AMEISXAEEES 310,000 338,000 /28,000
OogelgEady 29 X3
310,000,000 *10H £ 310,000
= 93,000
Al 217,000
g IgIHEME QIHEIZ 10,000 0 10,000
[ 3,000
Al 7,000
307 glztol & 10,000 0 10,000
= 3,000
Al 7,000
11 AMEISXAEEE 10,000 0 10,000
O gelgiade dE=E
10,000,000 * 10 2 10,000
= 3,000
Al 7,000
Od Q=2 dE JIsSEHA 10,000 0 10,000
[ 3,000
Al 7,000
307 lztol & 10,000 0 10,000
= 3,000
Al 7,000
11 AMEISXAEEES 10,000 0 10,000
O golgElEdE JISs2HAS
10,000,000 * 10 2= 10,000
= 3,000
Al 7,000
OdFESAR HEY T2 2 10,000 10,000 0




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 10,000 10,000
11 AMEISXAEEES 10,000 10,000
O0A HBY N HEL D2 29
10,000,000 * 10K 2= 10,000
Ot0l=EXI& 5,717,333 5,141,293 576,040
= 4,002,133
= 514,560
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O AR A 88, 24 HIS
600,000 x2JH 2 1,200
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O el 82 SAHIHE A
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401 Al HIZL 01| 2,000 2,000
01 Al&H| 2,000 2,000
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OXSEXII| e HYEE 2=
32,500 »720CH 23,400
ZOoHe! EbMl X1 106,000 106,000 0
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183 SV 2SO0t & AET AL 238,19 400,925 A162,726
ORoHeIol =Y X
59,549,750 & *42 238,199
= 190,559
== 14,292
Al 33,348
BRIFUL 7,331 25,064 A17,733
= 5,864
Al 1,467
301 LtEN= 7,331 25,064 A7,733
= 5,864
Al 1,467
01 Al EE AT S (2 RNEERA) 7,331 25,064 A17,733
2017 W7 610,900 * 12 7,331
= 5,864
Al 1,467
O Z0He SAHISXIE 3,600 4,800 1,200
= 2,520
= 324
Al 756
301 2N = 3,600 4,800 1,200
= 2,520
= 324
Al 756
01 Al EE AT S (2 RDEEMRA) 3,600 4,800 1,200
OWEE SLHISAE
1,200,000 *3H 3,600
= 2,520
= 324
Al 756
NASEOHQ! MEH] & A X1 5,400 6,000 2600
= 2,700
= 810
Al 1,890
301 LeEN= 5,400 6,000 2600
= 2,700
& 810
Al 1,890
01 Al EEAGZ(2REXMR) 5,400 6,000 2600




2A:

X XH -
o=

==X
FAHE SNST

el EOBOl REE =XMHIA HZ (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMASZOQ el X Al X
450,000 128 5,400
= 2,700
[ 810
Al 1,890
ZoHe!l EoAE X HE 131,180 116,180 15,000
= 26,236
Al 104,944
307 el2to| & 131,180 116,180 15,000
= 26,236
Al 104,944
11 AMISXAIEEX 131,180 116,180 15,000
OXIHEe! AL X 29
32,795,000 *43] 131,180
< 26,236
Al 104,944
Z0HQ! ofolmA FAUHIE XA 3,500 2,200 1,300
= 875
Al 2,625
301 LEtE N = 3,500 2,200 1,300
= 875
Al 2,625
02 ANRI2HHSFS(HAAS, XNLHE) 3,500 2,200 1,300
OFOHe! ool A IS A
875,000 *42] 3,500
< 875
Al 2,625
LTHEAMHIA HI2H XIS (Z0H0tSIHEXIZALL) 1,929,156 1,766,149 163,007
= 1,350,409
== 173,624
Al 405,123
308 AFAIEHMSOIE 1,929,156 1,766,149 163,007
= 1,350,409
=S 173,624
Al 405,123
183 SIS U B 4 HASAIE 1,929,156 1,766,149 163,007
OZeMEAtlIA B2 X
482,289,000& 42 1,929,156
= 1,350,409
= 173,624
Al 405,123
22T FHESAHEIAXE 2,033,500 1,576,364 457,136
= 1,423,450
= 183,015




2A:

RZH

X=]

==X
FHS II%&

SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 427,035
308 AtXIEHMSOIE 2,033,500 1,576,364 457,136
= 1,423,450
= 183,015
Al 427,035
18 S 2SS & AEAIE 2,033,500 1,576,364 457,136
OSLLHMRl FAHEHHIA X2
508,375,000 *42] 2,033,500
= 1,423,450
= 183,015
Al 427,035
AW LEHHSY Bue BSHHIAXE 342,100 290,990 51,110
= 239,470
= 30,789
Al 71,841
308 AHXIEMSOIH 342,100 290,990 51,110
= 239,470
[ 30,789
Al 71,841
13 SIS0t 34 A AS A 342,100 290,990 51,110
OLLFIRl YUS SEAHIA X
85,525,000 & 43| 342,100
= 239,470
< 30,789
Al 71,841
AHLEXE H=RH K& 8,757 8,757 0
= 6,130
< 788
Al 1,839
308 XtXIEMSO0IH 8,757 8,757 0
= 6,130
=S 788
Al 1,839
183 S 2S0UetE SR ASAIE] 8,757 8,757 0
OANLLTR BIRH X2
4,378,500 <22} 8,757
= 6,130
= 788
Al 1,839
LSETHEMEIA & EHH 121,200 205,200 284,000
< 36,360
Al 84,840
307 212t01™ 121,200 205,200 284,000
= 36,360




+

FA OEES A
B Fjo|E 2NEX
ol FOHOl HEE =XMHIA M2 CoR
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 84,840
05 git?(& = 121,200 205,200 284,000
OgESTEAEIA & )
10,100,000& «12& 121,200
== 36,360
Al 84,840
LT RN 5,790 5,648 142
= 4,053
== 521
Al 1,216
308 AHXIHMSO0IA 5,790 5,648 142
= 4,053
= 521
Al 1,216
183 SIS0t 4R A AL S 5,790 5,648 142
OLLRM LRAT
2,895,000& 22 5,790
= 4,053
= 521
Al 1,216
o esid s0XE 19,666,478 18,061,523 1,604,955
= 13,766,535
= 1,769,983
Al 4,129,960
308 AXIHMSOIA 19,666,478 18,061,523 1,604,955
= 13,766,535
= 1,769,983
Al 4,129,960
18 S 2SS & AEAIE 19,666,478 18,061,523 1,604,955
O asXA=0 A=A
4,916,619,500& 42| 19,666,478
= 13,766,535
= 1,769,983
Al 4,129,960
BSEX RS0 288,355 277,073 11,282
= 201,849
= 25,951
Al 60,555
308 AHXIEMSOIH 288,355 277,073 11,282
= 201,849
== 25,951
Al 60,555
18 SISOt EAS A 288,355 277,073 11,282




SA: JIE=XB
Ha: Fo|s =XSX

[l

el EOBOl REE =XMHIA HZ (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF0fY EELZ IO
72,088, 7503 *43] 288,355
= 201,849
< 25,951
Al 60,555
Zofe! EsX3 = FIHE 1,914,850 2,001,544 A\86,694
= 382,970
Al 1,531,880
308 AXIHS0IA 1,914,850 2,001,544 /86,694
S 382,970
Al 1,531,880
18 S| 2SO B & HASAIE 1,914,850 2,001,544 A\86,694
Ol s & FIH
478,712,500 42 1,914,850
< 382,970
Al 1,531,880
LIS BHWSHEH 2SI 510,000 480,000 30,000
= 510,000
307 212+01& 510,000 480,000 30,000
[ 510,000
1 AMEISXAEEXS 510,000 480,000 30,000
TR BMDSME 2 XD
127,500,000 *42] 510,000
s 510,000
SSTMHA NS LEHH X2 164,266 160,830 3,436
= 65,706
& 29,568
Al 68,992
307 glztol & 164,266 160,830 3,436
= 65,706
< 29,568
Al 68,992
11 AMEISXAEEES 164,266 160,830 3,436
OSSIMA L LKA
41,066,500& 42 164,266
= 65,706
== 29,568
Al 68,992
ZONQ KRR EEH2 S 473,969 455,065 18,904
= 94,7%
Al 379,175
307 elztol & 473,969 455,065 18,904
= 94,7%
Al 379,175




2A:

X XH -
o=

==X
FAHE SNST

ol FOHOl HEE =XMHIA M2 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 473,969 455,065 18,904
OXHZ NS4S X2AME 29
45,143, 7503 *43] 180,575
= 36,115
Al 144,460
OZ0rEHe THHMEEHH 29
57,207,500 *43] 228,830
< 45,766
Al 183,064
OZSHNIRZMEHE FIHX 2
64,564,000 *13] 64,564
= 12,913
Al 51,651
ZoHe! JIEXAHE X 24 214,937 205,000 9,937
== 42,987
Al 171,950
307 212+01& 214,937 205,000 9,937
< 42,987
Al 171,950
11 AMEISXAEEE 214,937 205,000 9,937
Ol JIEX2MEH 28
53,734,250 43| 214,937
= 42,987
Al 171,950
ol =0 na 23 8,000 7,800 200
== 2,400
Al 5,600
307 212+01& 8,000 7,800 200
< 2,400
Al 5,600
11 AMEISXIAEEES 8,000 7,800 200
OBOQ 201D 2
8,000,000& 12 8,000
= 2,400
Al 5,600
O W= X At 43,000 50,000 AT7,000
s 13,000
Al 30,000
307 212+01& 43,000 50,000 AT7,000
[ 13,000
Al 30,000
11 AMEISXAEEES 43,000 50,000 /7,000
Od HoHel WX AY
21,500,000 *29H 2= 43,000




FA OEES A
M FoE =2XEA
el EOBOl REE =XMHIA HZ (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 13,000
Al 30,000
LEH ARIEN 2208 29 6.110 8,000 A1,890
= 1,833
Al 4,217
307 gl2to| & 6,110 8,000 1,890
=S 1,833
Al 4,277
11 AMISXAIEEX 6.110 8,000 1,890
QLSO ABIZO(NHERY) T2
29 6,110,000~ 104 2 6.110
< 1,833
Al 4,277
el S A=EY T2 18 2 44,000 60,000 216,000
= 13,200
Al 30,800
307 el2to| & 44,000 60,000 16,000
= 13,200
Al 30,800
11 AMISXAIEEX 44,000 60,000 A16,000
OF0HO! DD X9 S T2 29
8,800,000 *5JH 2 44,000
[ 13,200
Al 30,800
HEZ0e SLH MHIA At 125,616 129,616 24,000
= 31,404
Al 94,212
307 elzto| & 125,616 129,616 24,000
= 31,404
Al 94,212
1 AMISXAIEEX 125,616 129,616 4,000
OWEHS SEH AMEIA A
125,616,000 * 11 2 125,616
[ 31,404
Al 94,212
dad delsy SSHY S5 S3LAel N 348,156 254,831 93,325
= 104,447
Al 243,709
307 el2tol & 348,156 254,831 93,325
= 104,447
Al 243,709
1 AMISXAIEEXS 348,156 254,831 93,325
Odgd Aclsd S XL &
2 xel X 87,039,000 43| 348,156




2A:

==X

M FoE =2XEA
el EOBOl REE =XMHIA HZ (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 104,447
Al 243,709
ZOHRIFAUESAIE JIS2ZAY 7,000 5,000 2,000
= 3,500
< 1,750
Al 1,750
402 QI2F X201 & 7,000 5,000 2,000
= 3,500
== 1,750
Al 1,750
02 QI EASEX(0IETHR) 7,000 5,000 2,000
OFMHAFAESAIE JIsE2
7,000,000 10K 2 7,000
= 3,500
== 1,780
Al 1,750
ZOHAIMSTHEAIE JIs22 12,000 0 12,000
401 AlEHIZL S0 12,000 12,000
01 Al&H| 12,000 12,000
OBSIISENY B F0IE 8
12,000,000 * 100 2~ 12,000
=dE HoHe NEdE =1 N2 82,000 82,000 0
307 gl2to| & 82,000 82,000
1 AMEISXAEEXS 82,000 82,000
O=&¢e JUANSANAFE Hgele oA
] 39,000,000 #2012 78,000
O=dd AN HAFE JIEHEH]
2,000,000 294 2 4,000
ST SSHEAMY 123,120 0 123,120
= 49,248
[ 22,162
Al 51,710
307 glztol & 123,120 0 123,120
= 49,248
== 22,162
Al 51,710
11 AMRISXAEEES 123,120 0 123,120
OSSM S=LEAS
30,780,000 4= 7| 123,120
= 49,248
s 22,162
Al 51,710
ZESE L2 =28 HE 111 X2 233,803 0 233,803
= 116,902




2A:

==X

M FoE =2XEA
el EOBOl REE =XMHIA HZ (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 35,070
Al 81,831
307 lztol & 233,803 0 233,803
= 116,902
== 35,070
Al 81,831
11 AMEISXAEEES 233,803 0 233,803
Oz=5 L =2t HE 1:1
233,803,000& %12 233,803
= 116,902
== 35,070
Al 81,831
ZSs 22 =2 18 111 XN 312,012 0 312,012
= 218,408
== 28,080
Al 65,524
308 AXIHMSO0IA 312,012 0 312,012
= 218,408
S 28,080
Al 65,524
183 S| 2SO ZB XA AIE 312,012 0 312,012
OzlsZ LEHM =2t O 1:1
78,003,000& *42] 312,012
= 218,408
= 28,080
Al 65,524
HAISL BAsts TA 251,560 281,219 A29,659
el sz AgEdlet &4 251,560 281,219 N29,659
Hd=2stel2t =273 29 215,829 253,006 A7 ATT
101 @124H| 24,588 22,114 2,474
M IRINZZENSES 24,588 2,114 2,474
Ol d=2ztalat sddH| JI2tZ2=2 At 21,206
—Jl2= 70,2103« 1 +212+ 112 16,219
-5+ 70,2102 x 1 =44 3,090
— X2 &I 70,2103 1 *1104 773
—352sE 70,2103 x 12~ 162 1,124
O0d=2=tala 2dd8Hl 2gz J|& 2
3 2,38
—=2g= 21,203,420 *4 . 5% 955
—dIdE2E= 21,203,420 *3.545% 752
—1NEEE= 21,203,420 *1.75% 372
—dE2E= 21,203,420 0. 966% 205
—IQYEE= 751,661 %12.95% 9%




2A:

==X

33 MAH=S Bdsis TAl
SRl Eel SEHEN NE0I8 &4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OS24 ol X=Hl
1,000,000& %1 1,000
201 er2 3| 61,521 69,662 A8, 141
01 AtR2te|HI 17,125 21,406 AN4,281
O&=)| gtz 32,000 +50H+ 122 1,920
Oosltl &Xtz 13,0002 *12CH* 122 1,872
O=AEXN 7Y 40,000 x28 Ax 122 960
OZet=gl = 165,000« 12& 1,980
OARd HIXIE dE F15=%
35,0002+ 122 420
OEH 25 7Y
1,380 *20001*62] 1,656
O842 +48 YREE 7Y
1,000& »2001 =10 200
Old=2=aat 28=5 7Y
50,0008 x20E 42 4,000
OLZ oHEBRIN DS 242
200,000 *12] 200
OZAIIIA HAF =2
100,000 %12 100
OsZIl HIIZA =8
140,0002 %12 140
OR4ZE £BAMN 228
60,0002 22 120
Ovd=zstalat T2 2HT M=
413,500 <22 827
Oud=stsla Z2d 8% 42 M=
200,000 2 =332 1,200
OJI2ge =4 S2 SA|
9,000 x2&+x52« 123 1,080
QORI 29 =2 34|
9,000 x1&+52d 103 450
02 S3=gHl 44,39%6 48,256 23,860
OMIIes MEE 1,800,0002 122 21,600
Odot=E AIER 300,000& * 122 3,600
OEAIIA AIEE 300,000 * 122 3,600
Ousze 2= 210,000 %13 210
OES= 4=l 50,0002 *12] 50
Ozl&t A=]XH| 1,916,000& %12 1,916
Oxd &g 2,200,000& %12 2,200
OdHIIME S FA2cldl
2,200,000 %12 2,200
OCCTy, Z2d LEFHl & WSIIAHM =X
2tel 935,000 42 3,740
Ozl&t A% 2,000,000& %12 2,000
Ooggars g9 250,000& 42 1,000




2A:

==X

S NAHBS BMSis TAl
CHelr &8l SIHE L XHEDI8t =4 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Os2d3a(M==x) 3L 300,000& x23l 600
O0HIstsl & LSAEZ(CIHY S)
140,000 122 1,680
202 04dl 480 600 A120
01 =LHO4 b 480 600 A120
OW&EssiY |34 &4 Y ¢HXI0H
60,0002 x2H x4 480
301 LetENEZ 129,240 160,630 A31,390
11 HAAHIXIE S 1,080 1,350 A270
ONW&ZSAtH &= &I S84
12,0002 x15H *33| 540
OZF0en A K95 4K 24
12,0002 x15F x33| 540
14 JIEt2 43 128,160 159,280 A31,120
ONAZIE BAILY
40,0002 *3A| 2243 x4 4 *3D | 34,560
O=2st, &% ZA=Y
40,0002 *2A| 20243 110130 63,360
O HE ZAtrE
40,0002 *2 Al 2+% 123 x6H*37 | 17,280
OO0t A 2 A=
45,0002 *2 Al 2H+243] x2J4*3D | 12,960
e =Zgtsl nssd &4 35,731 28,213 7,518
201 L2 | 11,448 14,310 A2,862
01 ArR2eltl 11,448 14,310 A2,862
ONW&Zatal2t SOIZHIAAR =2
130,000 122 1,560
Os&J| |Xzel e 84
10,0003 12& 1,320
OLAd SX2el i 29
180,000& *12& 2,160
O&IIANLSN SR 2 e 29
14400021+ 1224 1,728
OstE4 -4 |X2el 84
390,000& 123 4,680
206 =6l 2,433 2,803 A370
01 M=l 2,433 2,803 A370
Og0) TR %= g
300,000& *23] 600
OSAts0tel g0l HE M= 7L
400,000 *23| 800
OZ2™d 290 2 M2 7
516,500 *23| 1,033
401 AIEHIZ20HHI 17,000 5,000 12,000
01 Al&Hl 17,000 5,000 12,000
OW&Zstal2 AlId= EI| N E
2,500,000 23| 5,000




A JEE=SX0

B A&o] BAstE A
SRl Eel SEHEN NE0I8 &4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Old=2=talat A= 2=+
2,000,000 * 104 2~ 2,000
Ovig=stala 45 J2528 #=44|
10,000,000 * 10 2 10,000
405 KHaHE SH 4,850 6,100 1,250
01 Tt =S F=H 4,850 6,100 A1,250
O d2ztal2t et HSI| WAl
970,000 +5CH 4,850
HH2LZHIOIE=ID) 138,610 136,133 2,417
el 2E 73,134 69,273 3,861
el E2d| 73,134 69,273 3,861
101 ©1AH| 73,134 69,273 3,861
01 2= 73,134 69,273 3,861
OAlRAZ 2+
11,9503 x17H*30Al 2t 12 73,134
Jl=3H| 65,476 66,860 A1,384
Jl=3H] 65,476 66,860 A1,384
201 er23| 31,636 33,020 A1,384
01 At2teltl 31,636 33,020 1,384
ONE=AL 28 58 =S|
40,0003 =17 +122 8,160
O=AD| gitg & |X22/H
500, 0002 «2CH* 122 12,000
OFINILHE(EM AE) PEE
30,0002 x35+ 122 1,080
Od=Jl, SJ188J|, bl eEs
130,000& * 12 1,560
ORuEss d3sF A
100& %2,0000H*23|*25 800
OgR=IE JIZ2 NRES 7Y
929,000& 42 3,716
OSAEAl 7Y 500,000 42| 2,000
O2 Xt &4 MEHI 4,0002 %20 =23 160
OJ=E=xge 27 S20hA
9,000 x2E*102* 122 2,160
202 04l 30,240 30,240
01 2LHoIH 30,240 30,240
OJl22 s 0l
140,000 « 18 *12& 30,240
203 HR=4AY] 3,600 3,600
MU A2 LIFLI 3,600 3,600
ORANEgg =AY

300,000 122 3,600




